

GARRETT COUNTY AIRPORT (2G4) CONSTRUCT WEST APRON

BID OPENING DATE: 4/09/20 TIME: 2:00 PM

Under Construct mark press;         District         Di						ENGINEER'S ESTIMATE		Beitzel Co	rporation	Excavating Associates, Inc		
1         C 169 41.1         D 169 4000         B 164 40.0	ITEM NO.	SPEC NO.	DESCRIPTION	UNIT	QUANTITY	UNIT COST	SUBTOTAL	UNIT COST	SUBTOTAL	UNIT COST	SUBTOTAL	
2         C 6495.5         TexPower Hessex and Displayment Control Control         13         21         53.50.00         13.50.00         13.50.00         13.50.00         13.50.00         13.50.00         13.50.00         13.50.00         14.00.00         1												
3)         C-182-2.         MEDIA BARP AT FRUETCROMANY (MARC DAVID)         FA         5         3.9500         91.0400         94.040 </td <td>1</td> <td></td> <td></td> <td></td> <td>1</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>\$144,476.50</td>	1				1						\$144,476.50	
4         C. 1983.3         FURD BOG (SPR0)         FA         1         9.190000         9.190000         9.1	2				1	1		1	1		\$112,433.00	
5         C. 183.4.         FAULDS CONTRUCTION ENTRODUCED (1998)         FA         7         3.800.00         BLAND         BLANDD         BLANDD </td <td>3</td> <td></td> <td></td> <td></td> <td>6</td> <td></td> <td></td> <td>\$1,019.00</td> <td>\$6,114.00</td> <td>\$896.00</td> <td>\$5,376.00</td>	3				6			\$1,019.00	\$6,114.00	\$896.00	\$5,376.00	
6         C1055.5         SUPER TIFACE (2003)         1/F         3/40         91400         514000         51546         502,000         120,000         510000         51000         51000         510000         510000         510000         510000         510000         510000         510000         5100000         5100000         5100000         5100000         5100000         5100000         5100000         5100000         5100000         5100000         5100000         5	4				1			\$4,067.00			\$788.00	
7       C 10826       900C MULTI MOLTERING, SHALTIPE       FA       1       19900       11,2070       19,2080       19,2080 <td>5</td> <td></td> <td>STABILIZED CONSTRUCTION ENTRANCE (301008)</td> <td></td> <td>-</td> <td>\$3,000.00</td> <td></td> <td>\$6,161.00</td> <td>\$12,322.00</td> <td>\$1,232.00</td> <td>\$2,464.00</td>	5		STABILIZED CONSTRUCTION ENTRANCE (301008)		-	\$3,000.00		\$6,161.00	\$12,322.00	\$1,232.00	\$2,464.00	
8         C 1985.6         Report NULLT MONCTONG, SARAD PRE         FA         1         Status	6				3,410			\$15.80	\$53,878.00	\$8.85	\$30,178.50	
9         0	7				1			\$1,207.00	\$1,207.00	\$541.50	\$541.50	
9         0.40648         Mean Management Set Law         54         1         10000         1000 </td <td>8</td> <td>C-102-5.6</td> <td>ROCK OUTLET PROTECTION, 36-INCH PIPE</td> <td>EA</td> <td>2</td> <td>\$900.00</td> <td>\$1,800.00</td> <td>\$5,459.00</td> <td>\$10,918.00</td> <td>\$2,360.25</td> <td>\$4,720.50</td>	8	C-102-5.6	ROCK OUTLET PROTECTION, 36-INCH PIPE	EA	2	\$900.00	\$1,800.00	\$5,459.00	\$10,918.00	\$2,360.25	\$4,720.50	
11       C-108-30       ONST CONCRETE WASHOUT STRUCTURE       FA       1       15.5000       15.00000       15.00000       15.00000       15.00000       15.00000       15.00000       15.00000       15.00000       15.00000       15.0000000       15.000000000000000000000000000000000000	9	C-102-5.7	RIPRAP INFLOW PROTECTION	EA	1	\$1,200.00	\$1,200.00	\$4,203.00	\$4,203.00	\$2,134.00	\$2,134.00	
12         C108-50         95000 CONTROL NULCH ALANCE TYPE & PSING OF POINTIO         SY         98         8120         11.02.00         82.20         51.12.20         52.00         51.12.20         52.00         51.12.20         52.00         51.12.20         52.00         51.12.20         52.00         51.12.20         52.00	10	C-102-5.8	BASIN EMERGENCY SPILLWAY	EA	-	\$0.00	\$0.00		\$0.00		\$0.00	
13         C102-50         PECROD CONTROL NULCE AMARET TYPE & PENNE (1: 19 PPI (70110)         SY         700         S1200         S12000         S120000         S120000         S120000 </td <td>11</td> <td>C-102-5.9</td> <td>ONSITE CONCRETE WASHOUT STRUCTURE</td> <td>EA</td> <td>1</td> <td>\$1,500.00</td> <td>\$1,500.00</td> <td>\$3,079.00</td> <td>\$3,079.00</td> <td>\$1,037.00</td> <td>\$1,037.00</td>	11	C-102-5.9	ONSITE CONCRETE WASHOUT STRUCTURE	EA	1	\$1,500.00	\$1,500.00	\$3,079.00	\$3,079.00	\$1,037.00	\$1,037.00	
14         C-100-510         DOBDO CONTROL MULCINE AWART TYPE IP PRAVE 21 PER / 109110)         97         1270         M 4400         1222         12423         12423         12423         12423         12423         12423         12423         12423         12423         12423         12423         12423 <th12433< th="">         12423         12423</th12433<>	12	C-102-5.10	EROSION CONTROL MULCH BLANKET, TYPE B, PSSMC 0.94 PSF (709110)	SY	510	\$2.00	\$1,020.00	\$2.20	\$1,122.00	\$2.00	\$1,020.00	
15       C-102-010       PRODUC CONTRACTORS ALMANDET TYPE C. PSIAB 12 SPS (709120)       SY       2.9 25-00       SYD	13	C-102-5.10	EROSION CONTROL MULCH BLANKET, TYPE B, PSSMC 1.67 PSF (709110)	SY	700	\$3.00	\$2,100.00	\$2.20	\$1,540.00	\$2.00	\$1,400.00	
15         C-102.510         PROSIDE CONTRACTORS PLANT         ST         32.560         \$15.200         \$15.020         \$5.02.50         \$5.44.22.60         \$14.46         \$5.44.22.60         \$14.46         \$5.44.22.60         \$14.42.60         \$5.44.22.60         \$14.42.60         \$1	14	C-102-5.10	EROSION CONTROL MULCH BLANKET, TYPE B, PSSMC 2.11 PSF (709110)	SY	1,210	\$4.00	\$4,840.00	\$2.20	\$2,662.00	\$2.00	\$2,420.00	
16         C-168-11         USBLATION CONTRACTORS PLANT         15         1         15398.000         9539.000	15	C-102-5.10	EROSION CONTROL MULCH BLANKET, TYPE C, PSSMS 12.5 PSF (709120)		32,540	\$5.00	\$162,700.00				\$340,043.00	
17       C-168-42       COSTRUCTION SURVEYNO       S54.4000       S44.2000	16	C-105-6.1		LS	1	\$299,500.00	\$299,500.00	\$435.127.00	\$435,127,00		\$144,321.50	
III         Month         Manthemace and production of AR AND VEHICULAR TRAFFIC DURING CONSTRUCTION         LS         T         Structure         FA         Structure         FA         Structure         FA         Structure         FA         Structure         FA         Structure              2 <td>17</td> <td>C-105-6.2</td> <td>CONSTRUCTION SURVEYING</td> <td>LS</td> <td>1</td> <td>\$30,000.00</td> <td>\$30,000.00</td> <td></td> <td>\$40,260.00</td> <td>\$54,460,00</td> <td>\$54,460.00</td>	17	C-105-6.2	CONSTRUCTION SURVEYING	LS	1	\$30,000.00	\$30,000.00		\$40,260.00	\$54,460,00	\$54,460.00	
19       MOD1-22       TAWAY CLOSARE MARKER       EA       3       322:00.00       59:00.	18	M-001-7.1	MAINTENANCE AND PROTECTION OF AIR AND VEHICULAR TRAFFIC DURING CONSTRUCTION	LS	1	\$10.000.00	\$10.000.00	1		1. 7	\$4,102.00	
20         M017-3         BLORT CONSTRUCTION BARRCAGE         FA         9         \$77500         \$1247500         \$164.05         \$571.00         \$164.05         \$571.00         \$164.05         \$571.00         \$164.05         \$571.00         \$164.05         \$571.00         \$164.05         \$573.400         \$150.05         \$220.000         \$151.05         \$573.400         \$151.55         \$573.400         \$151.55         \$573.400         \$151.55         \$573.400         \$151.55         \$573.400         \$151.55         \$573.400         \$151.55         \$573.400         \$151.55         \$573.400         \$153.55         \$573.400         \$153.55         \$573.400         \$153.528.00         \$544.00         \$500.05         \$570.000         \$153.65         \$573.400         \$153.528.00         \$544.00         \$500.05         \$530.000         \$533.558.00         \$547.400         \$513.000         \$530.000         \$538.00         \$543.800	19	M-001-7.2	TAXIWAY CLOSURE MARKER		3	\$2,000.00	\$6,000.00				\$4,423.50	
21         MODT-7.         LOW PROFILE ARRIE/CAGES         EA         38         202000         \$17,0000         \$444.75         318,0.000         538,000         510           22         P-IOT-5.3         REMOVE PROKEMENT MARKINGS         SF         440         \$5.00         \$2.0000         \$12.30         \$13.35         \$17.4000         \$15.30         \$13.05	20	M-001-7.3	BUCKET CONSTRUCTION BARRICADE	EA	9	\$275.00	\$2,475.00				\$1,449.00	
12         P-105-2         ASPHAT CG DMILLING 02* DEPTH)         SY         400         550         52,040,00         \$13.3         \$13.40,00         \$16.73         184           21         P-105-3         REMOVE PRUCE NO GATES         IF         400         550         53.00,00         \$13.3         \$13.786,00         \$53.00         \$14.12           24         P-105-3         REMOVE ENDER DIDE LIGHTS         EA         12         \$150.00         \$15.80,00         \$56.80,00         \$8.80,80         \$58.80,00         \$14.80,00         \$15.80,00         \$12.80,00,00         \$12.80,00,00         \$12.80,00,00         \$12.80,00,00         \$12.80,00,00         \$12											\$10,982.00	
21       P-105-3       REMOVE PAREMENT MARKINGS       \$F       4,00       \$57.0       \$12,000       \$13,200       \$13,200       \$14,000       \$13,17,286.0       \$15,000       \$13,43       \$15,728.6       \$15,30       \$15,728.6       \$15,300       \$15,800,00       \$14,800,00       \$18,800,00       \$13,100,00       \$13											\$6,700.00	
24       P-105-3       RENVEFENCE AND CARTES       LF       4.200       \$550       \$20,100.00       \$3.43       \$13.788.60       \$13.788.60       \$13.788.60       \$13.788.60       \$13.788.60       \$13.788.60       \$13.788.60       \$13.788.60       \$13.788.60       \$13.788.60       \$13.788.60       \$13.788.60       \$13.853.00<											\$1,960.00	
25         P-101-33         EBRUNC EXISTING EGDELLIGHTS         EAA         12         \$1500.0         \$1800.00         \$560.00         \$500.00         \$500.00         \$500.00         \$500.00         \$500.00         \$500.00         \$500.00         \$500.00         \$500.00         \$500.00         \$500.00         \$510.80.00							1 1 1 1 1 1				\$14,070.00	
28         P-101-33         BENKOVE EXISTING SEGNENTED CIRCLE WINDCOME AND FOUNDATIONS         EA         1         \$1500.00         \$1530.00											\$10,062.00	
27       P-101-3.3       REMOVE EXISTING SUPPLEMENTAL WINDCOME AND FOUNDATION       EA       1       \$800.00       \$13.85.00					1						\$1,847.00	
28         P-101-33         REMOVE DRAINAGE STRUCTURE         EA         1         \$600.00         \$1650.00         \$1650.00         \$5121.00         \$521.00					1						\$903.00	
29       P-151-42       CLEARING AND GRUBBING       AC       21       \$20,0000       \$2,0000       \$2,0000       \$2,0000       \$2,0000       \$2,0000       \$2,0000       \$2,0000       \$2,0000       \$2,0000       \$2,0000       \$2,0000       \$3,1365660       \$5,000       \$1,3455600       \$5,000       \$1,3455600       \$5,000       \$1,3455600       \$5,000       \$1,3455600       \$5,000       \$1,3455600       \$5,000       \$1,3455600       \$1,000       \$3,000       \$1,3455600       \$1,000       \$3,000       \$1,000       \$3,000       \$1,000       \$3,000       \$1,000       \$3,000       \$1,000       \$3,000       \$1,000       \$1,000       \$2,200       \$1,0000       \$1,000					1			1 /		1	\$521.00	
30       P+124.1       UNCLASSIFIED EXCANTION       CY       289.0       \$12.00       \$3.105,560.0       \$5.20       \$5.134,566.00       \$6.60       \$5.60       \$5.84,500.0       \$5.22       \$5.750       \$5.130       \$5.33         31       P+1524.3       EMBANMENT, CLAY CORE FOR BASIN       CY       60       \$56.00       \$58.90.00       \$54.50       \$5.27.00       \$10.70       \$38         32       P+154.3       EMBANMENT, CLAY CORE FOR BASIN       CY       60       \$56.00       \$51.90.0       \$54.50       \$52.00       \$11.00.0       \$11.9				_	. 21			1 1	1 /		\$44,121.00	
31       P-152-42       WUCK EXXAVATION       CY       2.590       \$15.00       \$38,850.00       \$14.20       \$37,76.00       \$13.30.0       \$53         32       P-152-43       EMBANKENT CLAV CORE FOR BASN       CY       60       \$85.00       \$51.00       \$52.50       \$51.00       \$51.00       \$52.500       \$51.00       \$52.500       \$51.00       \$52.500       \$51.00       \$52.500       \$53.00       \$51.00       \$52.200.00       \$53.900.00       \$51.20.47.25       \$75.50       \$55.50       \$55.500       \$51.00       \$52.200.00       \$53.900.00       \$51.20.47.25       \$57.65.0       \$51.0											\$1,552,680.00	
32         P+152-43         EMBAWKENT, CLAY CORE FOR BASIN         CY         60         \$65.00         \$33,000         \$54.50         \$33,27,00         \$107.00         \$58           33         P+154-13         SUBBAS COURSE: IB KOH DEPTH         \$Y         \$11,20         \$4000         \$\$119         \$5234422.00         \$170.80         \$5234422.00         \$170.80         \$5234422.00         \$170.80         \$5234422.00         \$170.80         \$5234422.00         \$170.80         \$5234422.00         \$170.80         \$5234422.00         \$170.80         \$5234422.00         \$170.80         \$523.675.00         \$110         \$1,730.00         \$52.60         \$33           36         P+162-51         10 GALVANLED STELCHAIN-LINK FAPCE, PERMANENT         LF         4,202         \$33.00         \$\$1407.000         \$\$44.70         \$179.994.00         \$\$42.10         \$169           37         F+162-52         10 X2M ANUAL DOUBLE SWING VEHICULAR CHAIL-LINK GATE, WITH PAD LOCK         EA         \$\$45,500.00         \$\$22.600.00         \$\$3,980.00         \$\$3,980.00         \$\$3,980.00         \$\$3,880.00         \$\$12,872.25         \$\$16.60         \$\$47.00         \$\$12,872.25         \$\$16.60         \$\$3,980.00         \$\$12,872.25         \$\$16.60         \$\$22.500.00         \$\$3,280.00         \$\$12,872.25         \$\$16.80											\$33,670.00	
33       P-154-51       SUBBASE COURSE: IS INCH DEPTH       SY       11/20       \$4000       \$471/2000       \$1590       \$234/4220       \$17.80       \$200         34       P-620-52       RUNWAY AND TAXIWAY PANTING, PENMANENT       SF       4.280       \$15.5       \$6420.00       \$11.0       \$470.000       \$2.40       \$13.0         35       P-620-52       RUNWAY AND TAXIWAY PANTING, PENMANENT       SF       4.280       \$15.5       \$6420.00       \$11.0       \$470.00.0       \$24.42.00       \$2.50       \$3.17         36       F-162-51       10 YGALVANLED STEEL CHAN-LINK FENCE, PERMANENT       LF       4.000       \$35.000       \$3.900.00       \$3.900.00       \$3.900.00       \$3.900.00       \$3.900.00       \$3.900.00       \$3.900.00       \$3.900.00       \$3.900.00       \$3.900.00       \$3.900.00       \$3.900.00       \$3.200.00       \$3.380.00 <td< td=""><td></td><td>-</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>\$6.420.00</td></td<>		-									\$6.420.00	
34         P-620-51         RUNWAY AND TAXWAY PANTING, PERMANENT         SF         4.220         \$150         \$6,420.00         \$1.10         \$4,708.00         \$2.20         \$110           35         P-620-52         RUNWAY AND TAXWAY PANTING, INITIAL         SF         1,430         \$2.50         \$3,37500         \$1.10         \$1,573.00         \$2.20         \$33           36         F-162-51         10' GALVANZED STELE (ANN-LINK CATE, WITH PAD LOCK         EA         \$4,400.00         \$24,40         \$1,990.00         \$34,70         \$32,500.00         \$19,800.00         \$33,600.00         \$19,800.00         \$33,600.00         \$19,800.00         \$33,600.00         \$19,800.00         \$33,200.00         \$33,221.00         \$33,221.00         \$33											\$209.684.00	
35         P.620-52         RUNWAY PANTING. INITAL         SF         1.430         \$2:50         \$3:57:50         \$1:10         \$1:573:00         \$2:20         \$3:33           36         F-162-51         10° GALVANIZED STELL CHAINLINK FENCE, PERMANT         LF         4.020         \$3:8500         \$140,0000         \$44:70         \$173:894.00         \$42:10         \$3:800.00         \$1:800.00         \$3:800.00         \$1:800.00         \$3:800.00         \$1:800.00         \$3:800.00         \$1:800.00         \$3:800.00         \$1:800.00         \$3:800.00         \$1:800.00         \$3:800.00         \$1:800.00         \$3:800.00         \$1:800.00         \$3:800.00         \$1:800.00         \$3:800.00         \$1:800.00         \$3:800.00         \$1:800.00         \$3:800.00         \$1:800.00         \$2:22.00         \$3:800.00         \$2:22.00         \$3:800.00         \$2:22.00         \$3:800.00         \$2:22.00         \$3:800.00         \$3:800.00         \$2:22.00         \$3:800.00					1		1 1 1 1 1 1		1 1 1 1 1		\$209,004.00	
36         F-162-51         10° CAUVANCED STEL CHAIN-LINK FORCE, PERMANENT         LF         4.020         \$35.00         \$141070.00         \$44.70         \$179,84.00         \$42.10         \$169           37         F-162-52         10° X.20° MANUAL DOUBLE SWING VEHICULAR CHAIN-LINK GATE, WTH PAD LOCK         EA         5         \$45,000.00         \$22,000.00         \$3,960.00         \$19,800.00         \$3,860.00         \$19,800.00         \$3,860.00         \$19,800.00         \$3,860.00         \$19,800.00         \$3,282.00         \$3,380.00         \$22,200.00         \$3,328.00         \$3,282.00         \$3,328.00         \$3,339.00         \$3,340.00         \$4,40.00         \$4,40.00         \$4,40.00         \$4,40.00         \$4,40.00         \$4,40.00         \$4,40.00											\$3,575.00	
37         F-162-52         10"X 20" MANUAL DOUBLE SWING VEHICULAR CHAIN-LINK GATE, WITH PAD LOCK         EA         5         \$4,500.0         \$22,500.0         \$3,960.00         \$19,000.0         \$3,800.00         \$18,000.0         \$3,800.00         \$19,000.0         \$3,800.00         \$19,000.0         \$3,800.00         \$19,000.0         \$3,800.00         \$19,000.0         \$3,260.00         \$2,260.00         \$2,260.00											\$169,242.00	
38         D-701-5.1         15-INCH SL HDPE PIPE WIANTI-SEEP COLLARS         LF         67         \$85.00         \$5,695.00         \$191.75         \$12,847.25         \$76.50         \$55           39         D-701-5.1         24-INCH RCP, CLASS III PIPE         LF         16         \$85.00         \$13,80.00         \$20.20         \$32,32.00         \$33,89.0         \$53,38.00         \$33,80.0         \$33,80.0         \$33,80.0         \$33,80.0         \$33,80.0         \$33,80.0         \$33,80.0         \$33,80.0         \$33,80.0         \$33,80.0         \$33,80.0         \$33,80.0         \$33,80.0         \$33,80.0         \$33,80.0         \$34,587.00         \$21,50         \$33           41         D-705.5.1         6-INCH NON-REFORATED DIPE IONDERDRAIN, COMPLETE         LF         165         \$16,00         \$44,720.00         \$21,25         \$66,04.00         \$24,40.0         \$24,40.0         \$24,40.0         \$24,40.0         \$24,40.0         \$21,50         \$33           44         D-705.5.1         6-INCH NON-REFORATED DUE ONDERDRAIN, COMPLETE         LF         378         \$15,00         \$31,25         \$11,812.50         \$22,50.0         \$39           45         D-705.5.2         CLEANOUTS FOR 6" UNDERDRAIN ROTE MARCASTIRON FRAME AND GRATE         EA         17         \$660.00         \$11,810.								֥			\$18.000.00	
39         D-7015.1         24-INCH RCP, CLASS III PIPE         LF         16         \$85.00         \$1,360.00         \$202.00         \$3,232.00         \$190.25         \$33           40         D-7015.1         36-INCH RCP, CLASS III PIPE         LF         1.800         \$\$36.00         \$\$215.60         \$405.280.0         \$\$336.60         \$\$533           41         D-705.51         6-INCH PERFORATED PIPE FOREBAY UNDERDRAIN, COMPLETE         LF         1.800         \$\$477.000         \$\$212.5         \$\$66,045.00         \$\$24.00         \$\$74           43         D-705.51         6-INCH PERFORATED DRT FOREBAY UNDERDRAIN, COMPLETE         LF         3.108         \$\$16.00         \$\$477.200         \$\$21.25         \$\$66,045.00         \$\$24.00         \$\$74           43         D-705.51         6-INCH NON-PREFORATED DRT FOR UNDERDRAIN, COMPLETE         LF         378         \$\$15.00         \$\$670.00         \$\$11.20         \$\$1.60.0         \$\$24.00         \$\$24.00         \$\$24.00         \$\$24.00         \$\$24.00         \$\$24.00         \$\$24.00         \$\$24.00         \$\$24.00         \$\$24.00         \$\$24.00         \$\$24.00         \$\$24.00         \$\$24.00         \$\$24.00         \$\$24.00         \$\$24.00         \$\$24.00         \$\$24.20         \$\$25.00         \$\$21.51         \$\$16.00         \$\$						1 1	1 1	1		1.1,1.1.1.1	\$5,125,50	
40         D-701-5.1         36-INCH RCP, CLASS III PIPE         LF         1.80         \$95.00         \$178,600.00         \$215.60         \$405,328.00         \$336.90         \$336.90         \$333.60											\$3,044.00	
41       D-705-5.1       6-INCH PERFORATED PIPE VODERDRAIN, COMPLETE       LF       165       \$16.00       \$2,640.00       \$27.80       \$4,587.00       \$21.50       \$3         42       D-705-5.1       6-INCH PERFORATED PIPE UNDERDRAIN, COMPLETE       LF       3.108       \$16.00       \$49,720.00       \$21.25       \$66,045.00       \$24.00       \$74         43       D-705-5.1       6-INCH NON-PREFORATED DRT SO OUTLET PIPE UNDERDRAIN, COMPLETE       LF       45       \$17.00       \$765.00       \$41.20       \$1,864.00       \$21.50       \$2         44       D-705-5.1       6-INCH NON-PREFORATED DUTLET PIPE UNDERDRAIN, COMPLETE       LF       45       \$17.00       \$365.00       \$31.25       \$11.812.50       \$25.00       \$9         45       D-705-5.2       CLEANOUTS FOR 6' UNDERDRAIN PIPE       EA       17       \$660.00       \$11.050.00       \$12.34.25       \$20.982.25       \$541.00       \$9         46       D-751-5.2       PRECAST YARD INET, WISTRUCTURAL STEEL FRAME AND GRATE       EA       1       \$4,500.00       \$3.340.00       \$2.422.00       \$2       \$4       \$1.050.00       \$3.340.00       \$2.422.00       \$2       \$4       \$5.000.00       \$3.340.00       \$2.422.00       \$2       \$4       \$5.000.00       \$3.340.00       \$												
42       D-705-5.1       6-INCH PERFORATED PIPE UNDERDRAIN, COMPLETE       LF       3,108       \$16.00       \$49,720.00       \$21.25       \$66,045.00       \$24.00       \$74         43       D-705-5.1       6-INCH NON-PREFORATED SDR 35 OUTLET PIPE UNDERDRAIN, COMPLETE       LF       45       \$17.00       \$765.00       \$41.20       \$1,854.00       \$21.50       \$8         44       D-705-5.1       6-INCH NON-PREFORATED OUTLET PIPE UNDERDRAIN, COMPLETE       LF       43       \$1,050.00       \$13.125       \$11,812.50       \$22.00       \$9         45       D-705-5.2       CLEANOUTS FOR 6' UNDERDRAIN PIPE       EA       17       \$650.00       \$11,050.00       \$12,24.25       \$20.982.25       \$\$41.00       \$12,190.00       \$33.40.00       \$32,418.00       \$12,190.00       \$33.40.00       \$32,418.00       \$12,190.00       \$33.40.00       \$32,418.00       \$12,190.00       \$33.40.00       \$32,418.00       \$12,190.00       \$33.40.00       \$33.40.00       \$32,418.00       \$12,190.00       \$33.40.00       \$32,418.00       \$34,00.00       \$33.40.00       \$32,418.00       \$34,00.00       \$33.40.00       \$32,418.00       \$34,00.00       \$33.40.00       \$32,42.00       \$32         48       D-751-5.2       STANDARD FONTRUCTURE, WITRUCTURAL STEEL FRAME AND GRATE       EA											\$633,372.00 \$3,547.50	
43       D-705.5.1       6-INCH NON-PREFORATED SDR 35 OUTLET PIPE UNDERDRAIN, COMPLETE       LF       45       \$17.00       \$765.00       \$41.20       \$1,854.00       \$21.50       \$         44       D-705.5.1       6-INCH NON-PREFORATED OUTLET PIPE UNDERDRAIN, COMPLETE       LF       378       \$15.00       \$5,670.00       \$31.25       \$11,112.50       \$25.00       \$99         45       D-705.5.2       CLEANOUTS FOR 6' UNDERDRAIN PIPE       EA       17       \$650.00       \$11,050.00       \$12,32.5       \$21.40.0       \$12,190.00       \$33.40.00       \$22,42.00       \$22         46       D-751.5.2       STANDARD 60' DIAMETER PRECAST MANHOLE W/CAST IRON FRAME AND GRATE       EA       1       \$4,500.00       \$3,40.00       \$3,340.00       \$3,240.00       \$22,422.00       \$22         47       D-751.5.2       STANDARD TYPE EINLET, WISTRUCTURAL STEEL FRAME AND GRATE       EA       4       \$5,500.00       \$22,000.00       \$18,000.00       \$10,806.00       \$3,340.00       \$2,422.00       \$22         48       D-751.5.2       STANDARD TYPE EINLET, WISTRUCTURAL STEEL FRAME AND GRATE       EA       4       \$5,500.00       \$22,000.00       \$13,918.00       \$13,918.00       \$13,918.00       \$13,918.00       \$13,918.00       \$13,918.00       \$13,918.00       \$13,918.00											\$3,547.50	
44         D-705-5.1         6-INCH NON-PREFORATED OUTLET PIPE UNDERDRAIN, COMPLETE         LF         378         \$15.00         \$5,670.00         \$31.25         \$11,812.50         \$25.00         \$9           45         D-705-5.2         CLEANOUTS FOR 6" UNDERDRAIN PIPE         EA         17         \$650.00         \$11,050.00         \$12,842.5         \$20,982.25         \$541.00         \$9           46         D-751-5.1         STANDARD 60" DIAMETER PRECAST MANHOLE W/ CAST IRON FRAME AND GRATE         EA         1         \$4,500.00         \$10,806.00         \$32,418.00         \$12,190.00         \$34           47         D-751-5.2         STANDARD 60" DIAMETER PRECAST MANHOLE W/ CAST IRON FRAME AND GRATE         EA         4         \$5,500.00         \$33,40.00         \$33,44.00         \$22,42.00         \$22           48         D-751-5.2         STANDARD TYPE E INLET, WISTRUCTURAL STEEL FRAME AND GRATE         EA         4         \$5,500.00         \$22,200.00         \$12,621.00         \$50,484.00         \$9,760.00         \$33           50         D-752-5.1         STANDARD CONCRETE END SECTION, 15 INCH         EA         1         \$2,500.00         \$2,295.00         \$2,295.00         \$2,295.00         \$2,295.00         \$2,295.00         \$2,295.00         \$2,295.00         \$2,295.00         \$2,295.00 <t< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>1</td><td></td><td>1 12 13</td></t<>									1		1 12 13	
45       D-705-5.2       CLEANOUTS FOR 6' UNDERDRAIN PIPE       EA       17       \$650.00       \$11,050.00       \$1,234.25       \$20,982.25       \$541.00       \$9         46       D-751-5.1       STANDARD 60' DIAMETER PRECAST MANHOLE W CAST IRON FRAME AND GRATE       EA       3       \$6,000.00       \$10,806.00       \$32,418.00       \$12,190.00       \$33         47       D-751-5.2       PRECAST YARD INLET, WISTRUCTURAL STEEL FRAME AND GRATE       EA       1       \$4,500.00       \$34,000       \$3,340.00       \$2,422.00       \$22         48       D-751-5.2       PRECAST YARD INLET, WISTRUCTURAL STEEL FRAME AND GRATE       EA       4       \$5,500.00       \$22,000.00       \$13,918.00       \$13,918.00       \$10,355.00       \$10         49       D-751-5.2       OUTLET CONTROL STRUCTURE, WITRASH RACK, SKIMMER, COMPLETE       EA       1       \$2,500.00       \$13,918.00       \$10,355.00       \$10         50       D-752-5.1       STANDARD CONCRETE END SECTION, 36 INCH       EA       2       \$2,2500.00       \$2,295.00       \$2,295.00       \$2,285.00       \$2,285.00       \$2,285.00       \$2,285.00       \$2,285.00       \$2,285.00       \$2,285.00       \$2,285.00       \$2,285.00       \$2,285.00       \$2,285.00       \$2,285.00       \$2,285.00       \$2,285.00       \$2,29											\$967.50	
46         D-751-5.1         STANDARD 60* DIAMETER PRECAST MANHOLE W/ CAST IRON FRAME AND GRATE         EA         3         \$6,000.00         \$18,000.00         \$10,806.00         \$32,418.00         \$12,190.00         \$66           47         D-751-5.2         PRECAST YARD INLET, WISTRUCTURAL STEEL FRAME AND GRATE         EA         1         \$45,000.00         \$33,40.00         \$33,40.00         \$32,418.00         \$24,222.00         \$22           48         D-751-5.2         STANDARD TYPE EINLET, WISTRUCTURAL STEEL FRAME AND GRATE         EA         4         \$5,500.00         \$22,000.00         \$13,918.00         \$31,918.00         \$10,9760.00         \$39           49         D-751-5.2         STANDARD CONCRETE END SECTION, 15 INCH         EA         1         \$6,500.00         \$22,950.00         \$22,295.00											\$9,450.00	
47         D-751-5.2         PRECAST YARD INLET, WISTRUCTURAL STEEL FRAME AND GRATE         EA         1         \$4,500.00         \$3,340.00         \$3,340.00         \$2,422.00         \$2           48         D-751-5.2         STANDARD TYPE E INLET, WISTRUCTURAL STEEL FRAME AND GRATE         EA         4         \$5,500.00         \$22,000.00         \$12,621.00         \$50,484.00         \$9,760.00         \$39           49         D-751-5.2         OUTLET CONTROL STRUCTURE, WITRASH RACK, SKIMMER, COMPLETE         EA         1         \$6,500.00         \$13,918.00         \$13,918.00         \$13,918.00         \$13,918.00         \$10,355.00         \$10           50         D-752-5.1         STANDARD CONCRETE END SECTION, 15 INCH         EA         1         \$2,500.00         \$2,295.00         \$2,295.00         \$2,295.00         \$2,295.00         \$2,295.00         \$2,295.00         \$2,2128.25         \$4           52         D-752-5.1         STANDARD CONCRETE END SECTION, 36 INCH         EA         2         \$2,500.00         \$1,905.00         \$3,680.00         \$1,906.00         \$3,680.00         \$1,906.00         \$2,128.25         \$4           52         D-752-5.2         UNDERDRAIN OUTLET ENDWALLS, 6 INCH         EA         2         \$2,500.00         \$1,906.00         \$1,906.00         \$3,680.00         <											\$9,197.00	
48         D-751-5.2         STANDARD TYPE E INLET, WISTRUCTURAL STEEL FRAME AND GRATE         EA         4         \$5,500.00         \$22,000.00         \$12,621.00         \$50,484.00         \$9,760.00         \$39           49         D-751-5.2         OUTLET CONTROL STRUCTURE, WITRASH RACK, SKIMMER, COMPLETE         EA         1         \$6,500.00         \$13,918.00         \$13,918.00         \$10,355.00         \$10           50         D-752-5.1         STANDARD CONCRETE END SECTION, 15 INCH         EA         1         \$2,500.00         \$2,295.00         \$2,128.25         \$3					3						\$36,570.00	
49         D-751-52         OUTLET CONTROL STRUCTURE, W/ TRASH RACK, SKIMMER, COMPLETE         EA         1         \$6,500.00         \$13,918.00         \$13,918.00         \$10,355.00         \$10           50         D-752-5.1         STANDARD CONCRETE END SECTION, 15 INCH         EA         1         \$2,500.00         \$2,295.00         \$2,295.00         \$2,295.00         \$7,26.00         \$5           51         D-752-5.1         STANDARD CONCRETE END SECTION, 36 INCH         EA         2         \$2,500.00         \$4,080.00         \$8,136.00         \$2,128.25         \$4           52         D-752-5.2         UNDERDRAIN OUTLET ENDWALLS, 6 INCH         EA         2         \$2,500.00         \$1,090.00         \$1,195.00         \$3,056.00         \$2,128.25         \$4           52         D-752-5.2         UNDERDRAIN OUTLET ENDWALLS, 6 INCH         EA         3         \$600.00         \$1,080.00         \$1,195.00         \$3,056.00         \$2,128.25         \$4           53         T-901-5.1         SHA TURFGRASS SEED MIX AND SOIL SUPPLEMENTS         AC         36         \$800.00         \$2,864.00         \$1,760.00         \$3,000.00         \$1,600.00         \$1,600.00         \$5,750         \$5,66           54         T-905-5.1         TOPSOILING, OBTAINED ON SITE         CY <t< td=""><td></td><td></td><td></td><td></td><td>1</td><td></td><td></td><td>1.1.2. 2.2.2</td><td>1.17</td><td></td><td>\$2,422.00</td></t<>					1			1.1.2. 2.2.2	1.17		\$2,422.00	
50         D-752-5.1         STANDARD CONCRETE END SECTION, 15 INCH         EA         1         \$2,500.00         \$2,295.00					4						\$39,040.00	
51         D-752-5.1         STANDARD CONCRETE END SECTION, 36 INCH         EA         2         \$2,500.00         \$4,068.00         \$8,136.00         \$2,128.25         \$4           52         D-752-5.2         UNDERDRAIN OUTLET ENDWALLS, 6 INCH         EA         3         \$600.00         \$1,800.00         \$1,195.00         \$3,585.00         \$720.00         \$2           53         T-901-5.1         SHA TURFGRASS SEED MIX AND SOIL SUPPLEMENTS         AC         36         \$800.00         \$28,640.00         \$1,196.00         \$63,008.00         \$1,600.00         \$57           54         T-905-5.1         TOPSOILING, OBTAINED ON SITE         CY         7,513         \$9.00         \$67,617.00         \$4.35         \$37,189.35         \$7,50         \$56           55         T-908-5.1         WOOD CELLULOSE FIBER MULCHING         AC         36         \$800.00         \$28,640.00         \$1,320.00         \$47,256.00         \$1,200.00         \$42           56         L-107-5.1         L-807 (L), STYLE I-A, SIZE 2, PRIMARY WIND CONE AND FOUNDATION, IN PLACE         EA         1         \$12,000.00         \$13,750.00         \$12,500.00         \$37,166.00         \$37,266.00         \$37,266.00         \$37,266.00         \$37,266.00         \$37,266.00         \$37,266.00         \$37,266.00         \$37,266.0					1						\$10,355.00	
52         D-752-5.2         UNDERDRAIN OUTLET ENDWALLS, 6 INCH         EA         3         \$600.00         \$1,800.00         \$1,195.00         \$3,585.00         \$720.00         \$2           53         T-901-5.1         SHA TURFGRASS SEED MIX AND SOIL SUPPLEMENTS         AC         36         \$800.00         \$28,640.00         \$1,760.00         \$63,008.00         \$1,600.00         \$57           54         T-905-5.1         TOPSOILING, OBTAINED ON SITE         CY         7,513         \$9.00         \$67,617.00         \$43,55         \$37,189.35         \$7.50         \$56           55         T-908-5.1         WOOD CELLULOSE FIBER MULCHING         AC         36         \$800.00         \$28,640.00         \$1,320.00         \$47,256.00         \$1,200.00         \$42           56         L-107-5.1         L-807 (L), STYLE LA, SIZE 2, PRIMARY WIND CONE AND FOUNDATION, IN PLACE         EA         1         \$12,000.00         \$13,750.00         \$13,750.00         \$12,500.00         \$13,760.00         \$37,166.00         \$37,166.00         \$37,766.00         \$37,766.00         \$37,766.00         \$37,766.00         \$37,766.00         \$37,766.00         \$37,766.00         \$37,766.00         \$37,766.00         \$37,766.00         \$37,766.00         \$37,766.00         \$37,766.00         \$37,766.00         \$37,766.00					1						\$726.00	
53         T-901-5.1         SHA TURFGRASS SEED MIX AND SOIL SUPPLEMENTS         AC         36         \$800.00         \$28,640.00         \$1,760.00         \$63,008.00         \$1,600.00         \$57           54         T-905-5.1         TOPSOILING, OBTAINED ON SITE         CY         7,513         \$9,00         \$67,617.00         \$4.95         \$37,189.35         \$7.50         \$56           55         T-908-5.1         WOOD CELLULOSE FIBER MULCHING         AC         36         \$800.00         \$28,640.00         \$1,320.00         \$47,256.00         \$1,200.00         \$42           56         L-107-5.1         L-807 (L), STYLE I-A, SIZE 2, PRIMARY WIND CONE AND FOUNDATION, IN PLACE         EA         1         \$12,000.00         \$13,750.00         \$13,260.00         \$12,260.00         \$13,760.00         \$37,166.00					_						\$4,256.50	
54         T-905-5.1         TOPSOILING, OBTAINED ON SITE         CY         7,513         \$9.00         \$67,617.00         \$4.95         \$37,189.36         \$7.50         \$66           55         T-908-5.1         WOOD CELLULOSE FIBER MULCHING         AC         36         \$800.00         \$28,640.00         \$1,320.00         \$47,256.00         \$1,200.00         \$42           56         L-107-5.1         L-807 (L), STYLE I-A, SIZE 2, PRIMARY WIND CONE AND FOUNDATION, IN PLACE         EA         1         \$12,000.00         \$13,750.00         \$12,500.00         \$12,500.00         \$12,500.00         \$12,500.00         \$12,500.00         \$12,500.00         \$12,500.00         \$12,500.00         \$12,500.00         \$12,500.00         \$12,500.00         \$12,500.00         \$12,500.00         \$37,166.00         \$37,826.00         \$37, 58         L-108-5.1         CONDUIT TRENCH         LF         2,170         \$15.00         \$32,550.00         \$11.45         \$24,846.50         \$10.40         \$22									1.1/2.2.2.2		\$2,160.00	
55         T-908-5.1         WOOD CELLULOSE FIBER MULCHING         AC         36         \$800.00         \$28,640.00         \$1,320.00         \$47,256.00         \$1,200.00         \$42           56         L-107-5.1         L-807 (L), STYLE I-A, SIZE 2, PRIMARY WIND CONE AND FOUNDATION, IN PLACE         EA         1         \$12,000.00         \$13,750.00         \$13,750.00         \$12,500.00         \$12           57         L-107-5.2         SEGMENTED CIRCLE MARKER SYSTEM, IN PLACE         EA         1         \$10,000.00         \$10,000.00         \$37,166.00         \$37,826.00         \$37           58         L-108-5.1         CONDUIT TRENCH         LF         2,170         \$15.00         \$32,550.00         \$11.45         \$24,846.50         \$10.40         \$22											\$57,280.00	
56         L-107-5.1         L-807 (L), STYLE I-A, SIZE 2, PRIMARY WIND CONE AND FOUNDATION, IN PLACE         EA         1         \$12,000.0         \$13,750.00         \$13,750.00         \$12,500.00         \$12           57         L-107-5.2         SEGMENTED CIRCLE MARKER SYSTEM, IN PLACE         EA         1         \$10,000.00         \$37,166.00         \$37,826.00         \$37           58         L-108-5.1         CONDUIT TRENCH         LF         2,170         \$15.00         \$32,550.00         \$11.45         \$24,846.50         \$10.40         \$22											\$56,347.50	
57         L-107-5.2         SEGMENTED CIRCLE MARKER SYSTEM, IN PLACE         EA         1         \$10,000.00         \$10,000.00         \$37,166.00         \$37,826.00         \$37           58         L-108-5.1         CONDUIT TRENCH         LF         2,170         \$15.00         \$32,550.00         \$11.45         \$24,846.50         \$10.40         \$22				_							\$42,960.00	
58 L-108-5.1 CONDUIT TRENCH LF 2,170 \$15.00 \$32,550.00 \$11.45 \$24,846.50 \$10.40 \$22					1			1			\$12,500.00	
	-				1			1	1.5 7 5 5 5 5 5	1	\$37,826.00	
59 L-108-5.2 1/C, NO 8 AWG, 5KV, TYPE "C" CABLE, INSTALLED IN TRENCH, DUCTBANK, OR CONDUIT LF 2,710 \$1.50 \$4,065.00 \$4.30 \$11,653.00 \$3.90 \$10											\$22,568.00	
	59	L-108-5.2	1/C, NO 8 AWG, 5KV, TYPE "C" CABLE, INSTALLED IN TRENCH, DUCTBANK, OR CONDUIT	LF	2,710	\$1.50	\$4,065.00	\$4.30	\$11,653.00	\$3.90	\$10,569.00	



#### GARRETT COUNTY AIRPORT (2G4) CONSTRUCT WEST APRON

BID OPENING DATE: 4/09/20 TIME: 2:00 PM

					ENGINEER	ENGINEER'S ESTIMATE		rporation	Excavating Associates, Inc	
ITEM NO.	SPEC NO.	DESCRIPTION	UNIT	QUANTITY	UNIT COST	SUBTOTAL	UNIT COST	SUBTOTAL	UNIT COST	SUBTOTAL
60	L-108-5.2	NO. 8 AWG, 600V TYPE "C" CABLE, INSTALLED IN TRENCH, DUCTBANK, OR CONDUIT	LF	1,690	\$2.50	\$4,225.00	\$6.33	\$10,697.70	\$5.75	\$9,717.50
61	L-108-5.3	NO. 6 BARE COUNTERPOISE WIRE, CU LIGHTNING PROTECTION	LF	1,310	\$4.50	\$5,895.00	\$8.36	\$10,951.60	\$7.60	\$9,956.00
62	L-110-5.1	2-INCH, SCHEDULE 40 PVC ELECTRICAL CONDUIT	LF	3,170	\$7.00	\$22,190.00	\$2.97	\$9,414.90	\$2.70	\$8,559.00
63	L-110-5.2	2-WAY, 2-INCH SCHEDULE 40 PVC CONCRETE ENCASED ELECTRICAL DUCT BANK	LF	60	\$85.00	\$5,100.00	\$44.00	\$2,640.00	\$40.00	\$2,400.00
64	L-115-5.2	16-INCH, L-867 ELECTRICAL JUNCTION STRUCTURE	EA	3	\$1,200.00	\$3,600.00	\$1,017.50	\$3,052.50	\$925.00	\$2,775.00
65	L-120-6.1	2-WAY, 2-INCH SCHEDULE 40 HDPE ELECTRICAL DIRECTIONAL BORE CONDUIT	LF	220	\$130.00	\$28,600.00	\$38.50	\$8,470.00	\$35.00	\$7,700.00
66	L-125-5.1	L-861T, CLASS 2, MODE 1, BASE MOUNTED MITL	EA	15	\$1,250.00	\$18,750.00	\$1,045.00	\$15,675.00	\$950.00	\$14,250.00
67	L-125-5.2	L-853, 24-INCH, TYPE II, RETROREFLECTIVE TAXIWAY EDGE MARKER	EA	9	\$150.00	\$1,350.00	\$192.50	\$1,732.50	\$175.00	\$1,575.00
68	520113	6-INCH GRADED AGGREGATE BASE COURSE	SY	11,280	\$20.00	\$225,600.00	\$10.05	\$113,364.00	\$9.10	\$102,648.00
69	504536	SUPERPAVE ASPHALT MIX 12.5MM FOR SURFACE, PG 64S-22, LEVEL 4	TN	1,100	\$98.00	\$107,800.00	\$113.90	\$125,290.00	\$102.25	\$112,475.00
70	504560	SUPERPAVE ASPHALT MIX 19.0MM FOR BASE, PG 64S-22, LEVEL 2	TN	1,790	\$95.00	\$170,050.00	\$103.40	\$185,086.00	\$93.20	\$166,828.00
					Subtotal	\$5,964,962.00		\$4,352,978.65		\$4,466,684.00

\* Red Text indicates that the itemized amount does not match the proposal. Unit Price Written amounts govern.



GARRETT COUNTY AIRPORT (2G4) CONSTRUCT WEST APRON

BID OPENING DATE: 4/09/20 TIME: 2:00 PM

Intend         Operation         O	Green River Group, LLC		
1         C	SUBTOTAL		
2         C+83.4         THPACHEMPTISON MADPALLIPTICONTEQ.         13         1         F1492.000         F1592.000			
3         C 1932         Kabak Sam Pater Reciption, with processing         44         6         8         9         98500         9.5000        <	00.00 \$15,000.00		
4         C 1082.5         PUB 60 (2007)         C 1082.5         PUB 60 (2007)         D 10.000         B10.00	00.00 \$18,000.00		
1         0	75.00 \$2,250.00		
6         C-1985.5         UPPE STRUCE DROGS         UP         LVD         LVD <thld< th=""> <thld< th="">         LVD       L</thld<></thld<>	45.00 \$745.00		
7         C. 1925.6         CCC00.6.1         FL3000         FL30000         FL30000         FL30	00.00 \$8,000.00		
7.         C. 2005.6         COCOULT PROTECTION INFORMER         54.         1         J. J. 2000         FL200	\$9.00 \$30,690.00		
6         CH05.6         CH05.6         CH05.6         PA3000         PA30000			
•         C 1082.5         PRVM PHONPMONENTIM         FA         1         LAXDD         SLADD         SLADD         SLADD         SLADD         SLADD           0         C686.4         SMMLAMERGENER MALWAY         EA         -         -         SLADD         <			
40         6.486.4         Non-Lesson         FA         1			
11         C. 102.6.3         ONST CONCRET: WARKOUT STRUCTURE         FA         1         Excos         E	\$0.00		
12         C 102 5.0         BROBIN CONTREL ALLOITS ANDEL TYPE TYPE TOTING         SY         TOP         10         11.01.00         11.01.			
3)         C.102.5.0         FCSSON (CMUTRIC NULC) FLANGET TYPE (FBF (FBF (FBF ))         ST         TO         32.30         51.47500         53.30         51.32500         11.5500			
14         C. 109.6.10         DESCRIPTION         97         1.710         \$2.820         \$2.9200         \$2.81         \$2.9200         \$2.81         \$2.9200         \$2.81         \$2.9200         \$2.81         \$2.9200         \$2.81         \$2.9200         \$2.81         \$2.9200         \$2.91         \$2.91000         \$2.9100	\$7.00 \$4.900.00		
15       C100-80       PROSECOLUMED, MALCHEARSET, THEYE, PRIST, P	\$5.00 \$6.050.00		
15         C-108-61         MOBLIZATIONACONTRACTORPLANT         15         11         PEXADD00         \$17,0000         \$17,0000         \$17,0000         \$17,0000         \$17,0000         \$17,0000         \$17,0000         \$17,0000         \$17,0000         \$17,0000         \$17,0000         \$17,0000         \$17,0000         \$15,0000	1.1.1		
17       C.115.6.2       ONERDECTION BURCHING SURFERING       15       1       9300.000       \$750.000       \$300.000       \$500.000			
10         M401-11         MMITENNICE AND PROFEDDID OF AR AND VEHOLUAR TRAFE DURING CONSTRUCTION         15         1			
19         Mont-22         NAMAY COUNTE HARKE         F.A.         3         31 50000         \$300000			
20         Monty-3         Builder Construction Markacoli         EA         9         500.00         \$150.00			
21         MO1-74         COMPORTE BARRCOSES         EA         38         511.00         \$13.00.			
12         P.105-22         SPN.4TCOL MULBO G2 DEPTH         SY         400         317.50         \$17.000         \$18.00         \$12.000         \$18.00         \$12.000         \$18.00         \$12.000         \$18.00         \$12.000         \$18.00         \$12.000         \$18.00         \$12.000         \$18.00         \$12.000         \$18.00         \$12.000         \$12			
22         Priots.3         REMORE PREMENT MARKINGS         SP         490         37.35         \$3.00         \$3.07.50         \$3.			
24         P105-33         RBMOY ENDER AND GATES         EF         4.00         \$14,67,00         \$7.00         \$28,44,00         \$5.89,00         \$57,600         \$52,000         \$51,000			
26         P-101-33         REMOVE EXSTING SEDMETD GRCLE, WIND, CONK AND FOUNDATION         EA         1         12         323000         \$12300         \$13000         \$12000         <			
20         P-101-33         REMOVE EXISTING SEMENATED CRICLE WINCOME AND FOUNDATION         EA         1         \$2:00.00         \$3:00.00			
27         Pri04-33         REMOVE EASTING SUPPELIENTAL WINDOME AND FOUNDATION         EA         1         \$1400.00         \$31,700.00         \$13,700.00         \$15,800.00         \$15,600.00         \$15,600.00         \$15,000.00			
28       P-101-33       REMOVE DRAINAGE STRUCTURE       EA       1       990.00       \$990.00       \$995.00       \$150.00       \$150.00       \$150.00       \$150.00       \$150.00       \$150.00       \$150.00       \$150.00       \$150.00       \$150.00       \$150.00       \$150.00       \$150.00       \$150.00       \$150.00       \$51.00       \$51.00       \$51.00       \$51.00       \$51.00       \$51.00       \$51.00       \$51.00       \$51.00       \$51.00       \$51.00       \$51.00       \$53.80.00       \$51.00       \$53.80.00       \$51.00       \$53.80.00       \$51.00       \$53.80.00       \$51.00       \$53.80.00       \$51.00       \$53.80.00       \$51.00       \$53.80.00 <td></td>			
P151+2         CLEARNA GAUGRBBANC         AC         21         \$8.400.00         \$176.400.00         \$5.200.00         \$5.000.00         \$105.200.00 <td></td>			
90       P+12-4.1       UNCLASSFED EXCAVATION       CY       28.780       \$5.85       \$13.86.95.00       \$5.18       \$1.340.49.00       \$3.20       \$77.540.00       \$5.91         31       P+122-43       EMBANNEHT (LAV CORE FOR BASIN       CY       \$2.90       \$5.100       \$5.100       \$5.00.00       \$5.00.00       \$5.20.00       \$5.00.00       \$5.20.00       \$5.00.00       \$5.20.00       \$5.00.00       \$5.20			
11       P-132-42       MUCK ESCAVATION       CY       2.590       \$9:00       \$23:310.00       \$6:23       \$16:13:70       \$15:00       \$38.88.00       \$15:12         12       P-132-42       EMBANKENT CLAYCORE FOR BASN       CY       60       \$11300       \$6:700.00       \$1500.00       \$510.00       \$500.00       \$510.00       \$500.00       \$510.00       \$500.00       \$510.00       \$500.00       \$510.00       \$510.00       \$500.00       \$510.00			
12         P.152.43         EMBANKINET, CLAY CORE FOR BASIN         CY         60         \$1300         \$1900.00         \$1900.00         \$1000.00			
33       P-154-51       SUBBASE COURSE, 18 INCH DEPTH       SY       117.00       \$38.95       \$43.85.271.00       \$33.00.00       \$22.00       \$256.100.00       \$11.01         34       P-620-51       RUMWAY AND TXXWWY PANTTMG, EPERMANENT       SF       4.200       \$35.05       \$50.05.00       \$4.40       \$65.920.00       \$33.07       \$52.950.00       \$51.01       \$65.050.00       \$51.01       \$65.050.00       \$51.050.00       \$51.00       \$50.050.00       \$51.050.00       \$51.00       \$50.050.00       \$51.050.00       \$53.050.00       \$51.00.00       \$53.050.00       \$51.00.00.00       \$53.050.00       \$51.00.00.00       \$53.050.00       \$51.00.00.00       \$53.050.00       \$51.00.00.00       \$53.050.00       \$51.00.00.00       \$53.050.00       \$51.00.00.00       \$53.050.00       \$51.00.00       \$53.050.00       \$51.00.00       \$53.050.00       \$51.00.00       \$53.050.00       \$51.00.00       \$53.050.00       \$51.00.00       \$53.050.00       \$51.00.00       \$51.00.00       \$51.00.00       \$51.00.00       \$51.00.00.00       \$53.00.00       \$51.00.00       \$51.00.00       \$51.00.00       \$51.00.00       \$51.00.00       \$51.00.00       \$51.00.00       \$51.00.00       \$51.00.00       \$51.00.00       \$51.00.00       \$51.00.00       \$51.00.00       \$51.00.00       \$51.00.00			
14         P.620-51         RUMWAY AND TAXWAY PANTING, PERNAMENT         SF         4.280         52.99         512.412.00         53.19         513.652.0         \$15.00         \$644.0000         51.00           35         P.620-52         RUMWAY AND TAXWAY PANTING, INTUL         SF         14.30         \$35.05         \$5060.0         \$440         \$5222.00         \$410.0         \$16.8222.00         \$51.00         \$54.00         \$53.75         \$216.075.00         \$54.00           36         P.7162.52         10 Y. 20 MAVUAL DOUBLE SWING VEHICULAR CHANLINK GRE, WITH PAD LOCK         EA         \$5         \$3.300.00         \$31.400.00         \$3.000.00         \$31.400.00         \$3.000.00         \$31.400.00         \$3.000.00         \$31.400.00         \$3.000.00         \$31.400.00         \$3.000.00         \$31.400.00         \$3.000.00         \$31.400.00         \$3.000.00         \$31.400.00         \$3.000.00         \$31.400.00         \$3.000.00         \$31.400.00         \$3.000.00         \$3.600.00         \$31.400.00         \$3.000.00         \$3.6400.00         \$3.000.00         \$3.6400.00         \$3.000.00         \$3.6400.00         \$3.000.00         \$3.6400.00         \$3.000.00         \$3.6400.00         \$3.000.00         \$3.6400.00         \$3.100.00         \$3.6400.00         \$3.100.00         \$3.6400.00         \$3.100.00<			
35         P-630-52         RINWAY AND TAXIMAY PAINTING. NITTAL         9F         1.430         \$\$3.50         \$\$6.005.00         \$\$4.40         \$\$6.922.00         \$\$8.4200.00         \$\$1.1           36         F-162-51         10' GALVANIZED STEL CHANLINK FENCE, PERMANENT         LF         4.020         \$\$1.60         \$\$16.7232.00         \$\$4.100         \$\$16.420.00         \$\$3.57.5         \$\$2.16.075.00         \$\$4.00           37         F-162-52         10' X AVNAUZED DOBLE SWING VEHICULAR CHAIN-LINK GATE, WITH PAD LOCK         EA         \$\$3.300.00         \$\$1.000.00         \$\$3.800.00         \$\$1.900.00         \$\$3.800.00         \$\$1.900.00         \$\$3.800.00         \$\$1.900.00         \$\$3.800.00         \$\$1.900.00         \$\$3.800.00         \$\$1.900.00         \$\$3.800.00         \$\$1.900.00			
36         F-162.5.1         10*GALVANZED STEEL CHAIN-LINK FENCE, PERMANENT         LF         4.020         \$41.60         \$167,232.00         \$41.00         \$164.820.00         \$33.375         \$216.075.00         \$40.00           37         F-162.5.2         10 X 20* MANUAL DOUBLE SWING VEHICULAR CHAIN-LINK GATE. WITH PAD LOCK         EA         5         \$3.300.00         \$19.000.00         \$3.360.00         \$110.00         \$3.373.00         \$3.300.00         \$10.00.00         \$3.360.00         \$110.00         \$7.370.00         \$3.400.00         \$110.00         \$7.370.00         \$10.00.00         \$1.440.00         \$10.00.00         \$1.440.00         \$10.00.00         \$1.440.00 <td>\$1.50 \$6,420.00</td>	\$1.50 \$6,420.00		
17         F-162-52         10" X 20" MANUA DOUBLE SIMINO VEHICULAR CHANLINK GATE, WITH PAD LOCK         EA         5         \$ 38,000         \$ \$19,000.00         \$ \$3,800.00         \$ \$19,000.00         \$ \$3,800.00         \$ \$19,000.00         \$ \$3,800.00         \$ \$19,000.00         \$ \$3,800.00         \$ \$19,000.00         \$ \$3,800.00         \$ \$19,000.00         \$ \$3,800.00         \$ \$19,000.00         \$ \$3,800.00         \$ \$19,000.00         \$ \$3,800.00         \$ \$19,000.00         \$ \$3,800.00         \$ \$19,000.00         \$ \$3,800.00         \$ \$10,000.00         \$10,000.00         \$10,000.00         \$10,000.00         \$10,000.00         \$10,000.00         \$10,000.00         \$10,000.00         \$10,000.00         \$10,000.00         \$10,000.00         \$10,000.00         \$10,000.00	\$1.00 \$1,430.00		
38         D-701-5.1         I5-NCH SL HOPE PIPE WINT-SEEP COLLARS         LF         67         \$20000         \$13,400.00         \$70.00         \$4,690.00         \$110.00         \$7370.00         \$100.00           39         D-701-5.1         24-NCH RCP, CLASS III PIPE         LF         16         \$170.00         \$2,720.00         \$90.00         \$14.40.00         \$1600.00	40.00 \$160,800.00		
39         D-701-5.1         24-INCH RCP, CLASS III PIPE         LF         16         \$170,00         \$2,720.00         \$90,00         \$1,440,00         \$100,00         \$160,00         \$1150           40         D-701-5.1         8-INCH RCP, CLASS III PIPE         LF         1.80         \$242,25         \$447,310,00         \$300,00         \$564,000,00         \$346,000         \$3300         \$346,000         \$334,00         \$300,00         \$564,000,00         \$346,000         \$	00.00 \$17,500.00		
40         D-7015.1         36-INCH RCP, CLASS III PIPE         LF         1,880         \$243.25         \$457,310.00         \$300.00         \$564,000.00         \$440.00         \$300.00         \$450.00         \$3460.00         \$300.00         \$450.00         \$3460.00         \$300.00         \$450.00         \$300.00         \$300.00         \$510.00         \$511.00         \$520.00         \$300.00         \$21.00         \$56.588.00         \$31.00         \$65.115.00         \$200.00         \$310.00	00.00 \$6,700.00		
41       D-705.5.1       6-INCH PERFORATED DIPLE FOREBAY UNDERDRAIN, COMPLETE       LF       166       \$23.50       \$3,877.50       \$21.00       \$3,465.00       \$31.00       \$5,115.00       \$20.01         42       D-705.5.1       6-INCH PERFORATED DIPLUNDERDRAIN, COMPLETE       LF       3,106       \$26.00       \$80.080.00       \$21.00       \$56.268.00       \$31.00       \$96.344.00       \$20.00         43       D-705.5.1       6-INCH NON-PREFORATED SD S0 UTLET PIPE UNDERDRAIN, COMPLETE       LF       437.8       \$39.00       \$14,742.00       \$99.00       \$34.00.00       \$51.00       \$22.000       \$31.000       \$11.718.00       \$20.00       \$21.000.00       \$10.000.00       \$10.000.00       \$10.000.00       \$10.000.00       \$10.000.00       \$10.000.00       \$10.000.00       \$10.000.00       \$10.000.00       \$10.000.00       \$10.000.00       \$10.000.00       \$10.000.00       \$10.000	15.00 \$1,840.00		
42       D-705-5.1       6-INCH PERFORATED PIPE UNDERDRAIN, COMPLETE       LF       3,108       \$28.00       \$30,008.00       \$21.00       \$65,268.00       \$31.00       \$96,348.00       \$20.01         43       D-705-5.1       6-INCH NON-PREFORATED SDR 35 OUTLET PIPE UNDERDRAIN, COMPLETE       LF       45       \$77.00       \$33,000       \$24,05.00       \$20.00       \$20.01         44       D-705-5.1       6-INCH NON-PREFORATED OUTLET PIPE UNDERDRAIN, COMPLETE       LF       45       \$77.00       \$34,02.00       \$31.00       \$11,718.00       \$20.01         45       D-705-5.2       CLEANOUTS FOR 6' UNDERDRAIN PIPE       EA       17       \$640.00       \$10,800.00       \$11,700.00       \$480.00       \$31,000       \$33,900.00       \$10,000.00       \$30,000.00       \$10,000.00       \$30,000.00       \$10,000.00       \$30,000.00       \$10,000.00       \$30,000.00       \$10,000.00       \$30,000.00       \$10,000.00       \$30,000.00       \$10,000.00       \$30,000.00       \$10,000.00       \$30,000.00       \$10,000.00       \$30,000.00       \$10,000.00       \$30,000.00       \$10,000.00       \$30,000.00       \$10,000.00       \$30,000.00       \$10,000.00       \$30,000.00       \$10,000.00       \$30,000.00       \$10,000.00       \$30,000.00       \$10,000.00       \$30,000.00       \$30,000.0			
43         D-705-5.1         6-INCH NON-PREFORATED SDR 35 OUTLET PIPE UNDERDRAIN, COMPLETE         LF         45         \$78.00         \$3.510.00         \$9.00         \$405.00         \$50.00         \$2.250.00         \$20.00           44         D-705-5.1         6-INCH NON-PREFORATED OUTLET PIPE UNDERDRAIN, COMPLETE         LF         378         \$33.00         \$14,742.00         \$9.00         \$3.402.00         \$31.00         \$11,716.00         \$20.00           45         D-705-5.2         CLEANOUTS FOR OF UNDERDRAIN PIPE         EA         17         \$\$400.00         \$10.000         \$18.00.00         \$\$400.00         \$10.000.00         \$\$400.00         \$10.000.00         \$400.00         \$400.00         \$10.000.00         \$10.000.00         \$30.000.00         \$10.000.00         \$30.000.00         \$10.000.00         \$30.000.00         \$10.000.00         \$30.000.00         \$10.000.00         \$30.000.00         \$10.000.00         \$30.000.00         \$30.000.00         \$10.000.00         \$30.000.00         \$30.000.00         \$30.000.00         \$30.000.00         \$30.000.00         \$30.000.00         \$30.000.00         \$30.000.00         \$30.000.00         \$30.000.00         \$30.000.00         \$30.000.00         \$30.000.00         \$30.000.00         \$30.000.00         \$30.000.00         \$30.000.00         \$30.000.00         \$30.000.00	20.00 \$3,300.00		
44         D-705-5.1         6-INCH NON-PREFORATED OUTLET PIPE UNDERDRAIN, COMPLETE         LF         378         \$33.00         \$14,742.00         \$30.00         \$34,402.00         \$31.00         \$11,718.00         \$20.00           45         D-705-5.2         CLEANOUTS FOR 6' UNDERDRAIN PIPE         EA         17         \$640.00         \$10,800.00         \$11,000.00         \$18,700.00         \$480.00         \$81,600.00         \$30,000.00	20.00 \$62,160.00		
45       D-705-52       CLEANOUTS FOR 6' UNDERDRAIN PIPE       EA       17       \$640.00       \$10,00.00       \$18,700.00       \$480.00       \$8,160.00       \$400.00         46       D-751-5.1       STANDARD 60' DIAMETER PRECAST MANHOLE W (CAST IRON FRAME AND GRATE       EA       3       \$11,300.00       \$33,900.00       \$7,200.00       \$21,600.00       \$10,000.00       \$33,000.00       \$10,500.00         47       D-751-52       PRECAST YARD INLET, WISTRUCTURAL STEEL FRAME AND GRATE       EA       1       \$4800.00       \$3,4800.00       \$1,000.00       \$33,500.00       \$33,500.00       \$33,500.00       \$33,600.00 <th< td=""><td>20.00 \$900.00</td></th<>	20.00 \$900.00		
46         D-751-5.1         STANDARD 60° DIAMETER PRECAST MANHOLE W CAST IRON FRAME AND GRATE         EA         3         \$11,300.00         \$33,390.00         \$7,200.00         \$21,600.00         \$10,000.00         \$30,000.00         \$10,500.00           47         D-751-5.2         PRECAST YARD INLET, WISTRUCTURAL STEEL FRAME AND GRATE         EA         1         \$4,800.00         \$1,800.00         \$1,800.00         \$3,500.00         <	20.00 \$7,560.00		
47         D-751-52         PRECAST YARD INLET, WISTRUCTURAL STEEL FRAME AND GRATE         EA         1         \$4,800.00         \$1,800.00         \$1,800.00         \$3,500.00         \$3,	00.00 \$6,800.00		
48         D-751-52         STANDARD TYPE E INLET, WSTRUCTURAL STEEL FRAME AND GRATE         EA         4         \$8,600.00         \$3,000.00         \$7,700.00         \$30,800.00         \$7,400.00         \$29,900.00         \$10,000.00	00.00 \$31,500.00		
48         D-751-52         STANDARD TYPE E INLET, WISTRUCTURAL STEEL FRAME AND GRATE         EA         4         \$8,600.00         \$34,400.00         \$7,700.00         \$30,800.00         \$7,400.00         \$29,600.00         \$12,000.01           49         D-751-52         OUTLET CONTROL STRUCTURE, WITRASH RACK, SKIMMER, COMPLETE         EA         1         \$22,950.00         \$11,000.00         \$11,000.00         \$9,025.00         \$9,025.00         \$9,025.00         \$9,025.00         \$9,025.00         \$15,000.00         \$10,000.00 </td <td>00.00 \$3,000.00</td>	00.00 \$3,000.00		
49         D-751-52         OUTLET CONTROL STRUCTURE, W/ TRASH RACK, SKIMMER, COMPLETE         EA         1         \$\$2,950.00         \$\$1,000.00         \$\$1,000.00         \$\$9,025.00         \$\$9,025.00         \$\$1,000.00           50         D-752-5.1         STANDARD CONCRETE END SECTION, 15 INCH         EA         1         \$\$3,300.00         \$\$1,000.00         \$\$1,000.00         \$\$740.00         \$\$2,000.0           51         D-752-5.1         STANDARD CONCRETE END SECTION, 36 INCH         EA         2         \$\$4,950.00         \$\$9,000.00         \$\$1,000.00         \$\$1,000.00         \$\$1,000.00         \$\$3,800.00         \$\$3,300.00         \$\$1,000.00         \$\$1			
50         D-752-5.1         STANDARD CONCRETE END SECTION, 15 INCH         EA         1         \$3,300.00         \$3,300.00         \$1,000.00         \$740.00         \$740.00         \$2,000.00           51         D-752-5.1         STANDARD CONCRETE END SECTION, 36 INCH         EA         2         \$4,950.00         \$9,900.00         \$2,000.00         \$5,000.00         \$1,000.00         \$1,000.00         \$1,000.00         \$1,000.00         \$3,300.00         \$3,300.00         \$2,000.00         \$2,000.00         \$2,000.00         \$3,000.00         \$1,000.00         \$1,000.00         \$1,000.00         \$1,000.00         \$3,000.00         \$3,300.00         \$3,300.00         \$3,000.00	00.00 \$15,000.00		
51         D-752-5.1         STANDARD CONCRETE END SECTION, 36 INCH         EA         2         \$4,950.00         \$2,500.00         \$5,000.00         \$1,900.00         \$3,800.00			
52         D-752-52         UNDERDRAIN OUTLET ENDWALLS, 6 INCH         EA         3         \$1,660.00         \$4,980.00         \$1,500.00         \$4,500.00         \$6,650.00         \$1,950.00         \$1,000.00           53         T-901-5.1         SHA TURFGRASS SEED MIX AND SOIL SUPPLEMENTS         AC         36         \$1,675.00         \$59,965.00         \$1,800.00         \$64,440.00         \$1,700.00         \$60,860.00         \$2,000.00           54         T-905-5.1         TOPSOILING, OBTAINED ON SITE         CY         7,513         \$7.80         \$\$8,601.40         \$3,000.00         \$37,655.00         \$3.50         \$26,295.50         \$66.           55         T-908-5.1         WOOD CELLULOSE FIBER MULCHING         AC         36         \$1,250.00         \$44,750.00         \$1,300.00         \$46,540.00         \$1,200.00         \$46,540.00         \$1,000.00         \$46,640.00         \$1,000.00         \$19,000.00         \$10,000.00         \$10,000.00         \$10,000.00         \$10,000.00         \$10,000.00         \$10,000.00         \$10,000.00         \$10,000.00         \$10,000.00         \$10,000.00         \$10,000.00         \$11,000.00         \$11,000.00         \$14,500.00         \$14,500.00         \$11,500.00         \$14,500.00         \$14,500.00         \$22,500.00         \$14,500.00         \$10,000.00			
54         T-905-5.1         TOPSOILING, OBTAINED ON SITE         CY         7,513         \$7.80         \$\$8,601.40         \$5.00         \$37,565.00         \$3.50         \$26,295.50         \$6.0           55         T-908-5.1         WODD CELLULOSE FIBER MULCHING         AC         36         \$1,250.00         \$44,750.00         \$1,300.00         \$46,540.00         \$1,300.00         \$46,540.00         \$1,000.00         \$10,000.00         \$10,000.00         \$10,000.00         \$10,000.00         \$10,000.00         \$10,000.00         \$20,000.00         \$14,500.00         \$10,000.00         \$10,000.00         \$20,000.00         \$10,000.00         \$20,000.00         \$10,000.00         \$10,000.00         \$20,000.00         \$10,000.00         \$20,000.00         \$10,000.00         \$10,000.00         \$20,000.00         \$10,000.00         \$20,000.00         \$10,000.00         \$10,000.00         \$20,000.00         \$10,000.00         \$20,000.00         \$10,000.00         \$20,000.00         \$10,000.00         \$20,000.00         \$10,000.00         \$20,000.00         \$10,000.00         \$20,000.00         \$10,000.00         \$20,000.00         \$20,000.00         \$10,000.00         \$20,000.00         \$20,000.00         \$21,000.00         \$21,000.00         \$21,000.00         \$21,000.00         \$21,000.00         \$21,000.00         \$21,000.00	00.00 \$3,000.00		
54         T-905-5.1         TOPSOILING, OBTAINED ON SITE         CY         7,513         \$7.80         \$\$8,601.40         \$5.00         \$37,565.00         \$3.50         \$26,295.50         \$6.0           55         T-908-5.1         WODD CELLULOSE FIBER MULCHING         AC         36         \$1,250.00         \$44,750.00         \$1,300.00         \$46,540.00         \$1,300.00         \$46,540.00         \$1,000.00         \$10,000.00         \$10,000.00         \$10,000.00         \$10,000.00         \$10,000.00         \$10,000.00         \$20,000.00         \$14,500.00         \$10,000.00         \$10,000.00         \$20,000.00         \$10,000.00         \$20,000.00         \$10,000.00         \$10,000.00         \$20,000.00         \$10,000.00         \$20,000.00         \$10,000.00         \$10,000.00         \$20,000.00         \$10,000.00         \$20,000.00         \$10,000.00         \$10,000.00         \$20,000.00         \$10,000.00         \$20,000.00         \$10,000.00         \$20,000.00         \$10,000.00         \$20,000.00         \$10,000.00         \$20,000.00         \$10,000.00         \$20,000.00         \$10,000.00         \$20,000.00         \$20,000.00         \$10,000.00         \$20,000.00         \$20,000.00         \$21,000.00         \$21,000.00         \$21,000.00         \$21,000.00         \$21,000.00         \$21,000.00         \$21,000.00			
55         T-908-5.1         WOOD CELLULOSE FIBER MULCHING         AC         36         \$1,250.00         \$44,750.00         \$1,300.00         \$46,540.00         \$1,300.00         \$46,540.00         \$1,200.00           56         L-107-5.1         L-807 (L), STYLE I-A, SIZE 2, PRIMARY WIND CONE AND FOUNDATION, IN PLACE         EA         1         \$14,700.00         \$19,000.00         \$10,000.00	\$6.00 \$45,078.00		
56         L-107-5.1         L-807 (L), STYLE I-A, SIZE 2, PRIMARY WIND CONE AND FOUNDATION, IN PLACE         EA         1         \$14,700.00         \$19,000.00         \$10,000.00 <th< td=""><td></td></th<>			
57         L-107-5.2         SEGMENTED CIRCLE MARKER SYSTEM, IN PLACE         EA         1         \$26,400.00         \$55,900.00         \$14,500.00         \$14,500.00         \$25,000.00         \$14,500.00         \$25,000.00         \$14,500.00         \$25,000.00         \$14,500.00         \$25,000.00         \$14,500.00         \$21,700.00         \$25,000.00         \$14,500.00         \$21,700.00         \$25,000.00         \$14,500.00         \$21,700.00         \$25,000.00         \$14,500.00         \$21,700.00         \$25,000.00         \$21,700.00         \$21,700.00         \$25,000.00         \$21,700.70         \$21,700.70         \$21			
58 L-108-5.1 CONDUIT TRENCH LF 2.170 \$10.35 \$22,459.50 \$15.00 \$32,50.00 \$10.00 \$21,700.00 \$45.0			
59 L-108-5.2 1/C, NO 8 AWG, 5KV, TYPE "C" CABLE, INSTALLED IN TRENCH, DUCTBANK, OR CONDUIT LF 2,710 \$1.60 \$4,336.00 \$1.60 \$4,336.00 \$3.00 \$8,130.00 \$2.1	\$2.00 \$5,420.00		



#### GARRETT COUNTY AIRPORT (2G4) CONSTRUCT WEST APRON

BID OPENING DATE: 4/09/20 TIME: 2:00 PM

					Carl Be	elt, Inc.	Bear Contracting, LLC		All Construction, Inc		Green River Group, LLC	
ITEM NO.	SPEC NO.	DESCRIPTION	UNIT	QUANTITY	UNIT COST	SUBTOTAL	UNIT COST	SUBTOTAL	UNIT COST	SUBTOTAL	UNIT COST	SUBTOTAL
60	L-108-5.2	NO. 8 AWG, 600V TYPE "C" CABLE, INSTALLED IN TRENCH, DUCTBANK, OR CONDUIT	LF	1,690	\$1.75	\$2,957.50	\$1.75	\$2,957.50	\$7.15	\$12,083.50	\$2.00	\$3,380.00
61	L-108-5.3	NO. 6 BARE COUNTERPOISE WIRE, CU LIGHTNING PROTECTION	LF	1,310	\$11.75	\$15,392.50	\$1.25	\$1,637.50	\$6.65	\$8,711.50	\$1.50	\$1,965.00
62	L-110-5.1	2-INCH, SCHEDULE 40 PVC ELECTRICAL CONDUIT	LF	3,170	\$2.85	\$9,034.50	\$2.85	\$9,034.50	\$8.35	\$26,469.50	\$3.00	\$9,510.00
63	L-110-5.2	2-WAY, 2-INCH SCHEDULE 40 PVC CONCRETE ENCASED ELECTRICAL DUCT BANK	LF	60	\$60.35	\$3,621.00	\$235.00	\$14,100.00	\$32.50	\$1,950.00	\$200.00	\$12,000.00
64	L-115-5.2	16-INCH, L-867 ELECTRICAL JUNCTION STRUCTURE	EA	3	\$2,065.00	\$6,195.00	\$1,655.00	\$4,965.00	\$2,000.00	\$6,000.00	\$1,200.00	\$3,600.00
65	L-120-6.1	2-WAY, 2-INCH SCHEDULE 40 HDPE ELECTRICAL DIRECTIONAL BORE CONDUIT	LF	220	\$51.00	\$11,220.00	\$50.00	\$11,000.00	\$26.50	\$5,830.00	\$145.00	\$31,900.00
66	L-125-5.1	L-861T, CLASS 2, MODE 1, BASE MOUNTED MITL	EA	15	\$2,650.00	\$39,750.00	\$2,400.00	\$36,000.00	\$2,725.00	\$40,875.00	\$3,400.00	\$51,000.00
67	L-125-5.2	L-853, 24-INCH, TYPE II, RETROREFLECTIVE TAXIWAY EDGE MARKER	EA	9	\$880.00	\$7,920.00	\$200.00	\$1,800.00	\$250.00	\$2,250.00	\$500.00	\$4,500.00
68	520113	6-INCH GRADED AGGREGATE BASE COURSE	SY	11,280	\$13.90	\$156,792.00	\$10.50	\$118,440.00	\$10.25	\$115,620.00	\$10.00	\$112,800.00
69	504536	SUPERPAVE ASPHALT MIX 12.5MM FOR SURFACE, PG 64S-22, LEVEL 4	TN	1,100	\$107.00	\$117,700.00	\$215.00	\$236,500.00	\$130.00	\$143,000.00	\$110.00	\$121,000.00
70	504560	SUPERPAVE ASPHALT MIX 19.0MM FOR BASE, PG 64S-22, LEVEL 2	TN	1,790	\$97.50	\$174,525.00	\$100.00	\$179,000.00	\$133.00	\$238,070.00	\$105.00	\$187,950.00
						\$4,633,043.90		\$4,698,932.80		\$5,110,507.00		\$5,184,826.00

\* Red Text indicates that the itemized amount does not match the proposal. Unit Price Written amounts govern.



GARRETT COUNTY AIRPORT (2G4) CONSTRUCT WEST APRON

BID OPENING DATE: 4/09/20 TIME: 2:00 PM

			Mountaineer Infrastructure Charles J. Merlo, Inc.		Merlo, Inc.	First Fruits E	xcavating, Inc	Eastern Branch Demolition				
ITEM NO.	SPEC NO.	DESCRIPTION	UNIT	QUANTITY	UNIT COST	SUBTOTAL	UNIT COST	SUBTOTAL	UNIT COST	SUBTOTAL	UNIT COST	SUBTOTAL
	BASE BID (CON	TRUCT WEST APRON )										
1	C-100-14.1	CONTRACTOR QUALITY CONTROL PROGRAM (CQCP)	LS	1	\$121,800.00	\$121,800.00	\$323,721.85	\$323,721.85	\$302,000.00	\$302,000.00	\$50,214.00	\$50,214.00
2	C-102-5.1	TEMPORARY EROSION AND POLLUTION CONTROL	LS	1		\$132,500.00	\$103,652.18	\$103,652.18	\$255,000.00	\$255,000.00	\$65,000.00	\$65,000.00
3	C-102-5.2	MEDIUM SUMP INLET PROTECTION (MSIP)	EA	6		\$7,200.00	\$602.51	\$3,615.06	\$800.00	\$4,800.00	\$700.00	\$4,200.00
4	C-102-5.3	FILTER BAG (388160)	EA	1	\$500.00	\$500.00	\$832.08	\$832.08	\$650.00	\$650.00	\$700.00	\$700.00
5	C-102-5.4	STABILIZED CONSTRUCTION ENTRANCE (301008)	EA	2	\$2,250.00	\$4,500.00	\$1,122.86	\$2.245.72	\$3.000.00	\$6.000.00	\$5.000.00	\$10.000.00
6	C-102-5.5	SUPER SILT FENCE (390535)	LF	3,410	\$10.00	\$34,100.00	\$12.01	\$40,954.10	\$15.00	\$51,150.00	\$14.00	\$47,740.00
7	C-102-5.6	ROCK OUTLET PROTECTION, 15-INCH PIPE	EA	0,410	\$10.00	\$850.00	\$857.52	\$857.52	\$600.00	\$600.00	\$3,800.00	\$3,800.00
8	C-102-5.6	ROCK OUTLET PROTECTION, 36-INCH PIPE	EA	2	\$850.00	\$7,600.00	\$057.52	\$4,857.60	\$800.00	\$6.600.00	\$5,000.00	\$3,800.00
9	C-102-5.6 C-102-5.7	RIDER OUTLET PROTECTION, 30-INCH PIPE	EA	1	\$3,800.00	\$7,600.00	\$2,428.80 \$1,402.53	\$4,857.60 \$1,402.53	\$3,300.00	\$6,600.00	\$5,000.00	\$10,000.00
	C-102-5.7 C-102-5.8	BASIN EMERGENCY SPILLWAY		1	\$3,000.00	1.1	\$1,402.53		\$4,100.00		\$0,000.00	1 - 1
<del>10</del>			EA	-		\$0.00	A	\$0.00		\$0.00		\$0.00
11	C-102-5.9	ONSITE CONCRETE WASHOUT STRUCTURE	EA	1	\$2,000.00	\$2,000.00	\$1,260.04	\$1,260.04	\$900.00	\$900.00	\$1,500.00	\$1,500.00
12	C-102-5.10	EROSION CONTROL MULCH BLANKET, TYPE B, PSSMC 0.94 PSF (709110)	SY	510	\$2.20	\$1,122.00	\$2.33	\$1,188.30	\$6.00	\$3,060.00	\$5.00	\$2,550.00
13	C-102-5.10	EROSION CONTROL MULCH BLANKET, TYPE B, PSSMC 1.67 PSF (709110)	SY	700	\$2.20	\$1,540.00	\$2.33	\$1,631.00	\$6.00	\$4,200.00	\$5.00	\$3,500.00
14	C-102-5.10	EROSION CONTROL MULCH BLANKET, TYPE B, PSSMC 2.11 PSF (709110)	SY	1,210	\$2.20	\$2,662.00	\$2.33	\$2,819.30	\$6.00	\$7,260.00	\$5.00	\$6,050.00
15	C-102-5.10	EROSION CONTROL MULCH BLANKET, TYPE C, PSSMS 12.5 PSF (709120)	SY	32,540	\$13.25	\$431,155.00	\$14.23	\$463,044.20	\$12.25	\$398,615.00	\$5.00	\$162,700.00
16	C-105-6.1	MOBILIZATION/CONTRACTOR'S PLANT	LS	1	\$505,100.00	\$505,100.00	\$175,302.69	\$175,302.69	\$325,000.00	\$325,000.00	\$250,000.00	\$250,000.00
17	C-105-6.2	CONSTRUCTION SURVEYING	LS	1	\$120,000.00	\$120,000.00	\$106,179.65	\$106,179.65	\$240,000.00	\$240,000.00	\$30,000.00	\$30,000.00
18	M-001-7.1	MAINTENANCE AND PROTECTION OF AIR AND VEHICULAR TRAFFIC DURING CONSTRUCTION	LS	1	\$138,795.00	\$138,795.00	\$36,940.62	\$36,940.62	\$235,000.00	\$235,000.00	\$20,000.00	\$20,000.00
19	M-001-7.2	TAXIWAY CLOSURE MARKER	EA	3	\$1,200.00	\$3,600.00	\$702.89	\$2,108.67	\$900.00	\$2,700.00	\$700.00	\$2,100.00
20	M-001-7.3	BUCKET CONSTRUCTION BARRICADE	EA	9	\$150.00	\$1,350.00	\$65.29	\$587.61	\$200.00	\$1,800.00	\$1,000.00	\$9,000.00
21	M-001-7.4	LOW PROFILE BARRICADES	EA	38	\$200.00	\$7,600.00	\$208.69	\$7,930.22	\$200.00	\$7,600.00	\$1,000.00	\$38,000.00
22	P-101-5.2	ASPHALT COLD MILLING (0-2" DEPTH)	SY	400	\$18.37	\$7,348.00	\$19.47	\$7,788.00	\$17.00	\$6,800.00	\$23.00	\$9,200.00
23	P-101-5.3	REMOVE PAVEMENT MARKINGS	SF	490	\$4.00	\$1,960.00	\$5.83	\$2,856.70	\$10.00	\$4,900.00	\$7.00	\$3,430.00
24	P-101-5.3	REMOVE FENCE AND GATES	LF	4,020	\$7.70	\$30,954.00	\$5.29	\$21,265.80	\$7.00	\$28,140.00	\$7.00	\$28,140.00
25	P-101-5.3	REMOVE EXISTING EDGE LIGHTS	EA	12		\$3.000.00	\$145.74	\$1,748.88	\$125.00	\$1,500.00	\$200.00	\$2,400.00
25	P-101-5.3	REMOVE EXISTING EDGE LIGHTS REMOVE EXISTING SEGMENTED CIRCLE. WINDCONE AND FOUNDATIONS	EA	12	\$250.00	\$7,500.00	\$145.74	\$1,748.80	\$125.00	\$1,500.00	\$200.00	\$2,400.00
20	P-101-5.3 P-101-5.3	REMOVE EXISTING SEGMENTED CIRCLE, WINDCONE AND FOUNDATIONS	EA	1			+=,==		+-,	÷•,•••••		
				1	\$3,500.00	\$3,500.00	\$2,004.80	\$2,004.80	\$4,500.00	\$4,500.00	\$5,000.00	\$5,000.00
28	P-101-5.3	REMOVE DRAINAGE STRUCTURE	EA	1	\$2,500.00	\$2,500.00	\$598.42	\$598.42	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00
29	P-151-4.2	CLEARING AND GRUBBING	AC	21		\$148,050.00	\$7,296.00	\$153,216.00	\$4,000.00	\$84,000.00	\$8,000.00	\$168,000.00
30	P-152-4.1	UNCLASSIFIED EXCAVATION	CY	258,780	\$4.95	\$1,280,961.00	\$8.71	\$2,253,973.80	\$7.00	\$1,811,460.00	\$11.00	\$2,846,580.00
31	P-152-4.2	MUCK EXCAVATION	CY	2,590	\$10.00	\$25,900.00	\$7.68	\$19,891.20	\$10.00	\$25,900.00	\$20.00	\$51,800.00
32	P-152-4.3	EMBANKMENT, CLAY CORE FOR BASIN	CY	60	\$200.00	\$12,000.00	\$64.42	\$3,865.20	\$130.00	\$7,800.00	\$200.00	\$12,000.00
33	P-154-5.1	SUBBASE COURSE, 18 INCH DEPTH	SY	11,780	\$19.50	\$229,710.00	\$20.74	\$244,317.20	\$19.00	\$223,820.00	\$30.00	\$353,400.00
34	P-620-5.1	RUNWAY AND TAXIWAY PAINTING, PERMANENT	SF	4,280	\$4.00	\$17,120.00	\$1.17	\$5,007.60	\$5.00	\$21,400.00	\$6.00	\$25,680.00
35	P-620-5.2	RUNWAY AND TAXIWAY PAINTING, INITIAL	SF	1,430	\$4.00	\$5,720.00	\$1.17	\$1,673.10	\$5.00	\$7,150.00	\$3.00	\$4,290.00
36	F-162-5.1	10' GALVANIZED STEEL CHAIN-LINK FENCE, PERMANENT	LF	4,020	\$43.00	\$172,860.00	\$45.47	\$182,789.40	\$40.00	\$160,800.00	\$55.00	\$221,100.00
37	F-162-5.2	10' X 20' MANUAL DOUBLE SWING VEHICULAR CHAIN-LINK GATE, WITH PAD LOCK	EA	5	\$3,800.00	\$19,000.00	\$4,197.13	\$20,985.65	\$3,600.00	\$18,000.00	\$5,000.00	\$25,000.00
38	D-701-5.1	15-INCH SL HDPE PIPE W/ ANTI-SEEP COLLARS	LF	67	\$170.00	\$11,390.00	\$100.67	\$6,744.89	\$105.00	\$7,035.00	\$156.00	\$10,452.00
39	D-701-5.1	24-INCH RCP, CLASS III PIPE	LF	16	\$200.00	\$3,200.00	\$216.33	\$3,461.28	\$155.00	\$2,480.00	\$250.00	\$4,000.00
40	D-701-5.1	36-INCH RCP. CLASS III PIPE	LF	1,880	\$390.00	\$733,200.00	\$220.92	\$415.329.60	\$320.00	\$601.600.00	\$250.00	\$470,000.00
41	D-705-5.1	6-INCH PERFORATED PIPE FOREBAY UNDERDRAIN, COMPLETE	LF	165	\$25.00	\$4,125.00	\$39.39	\$6,499.35	\$40.00	\$6,600.00	\$20.00	\$3,300.00
42	D-705-5.1	6-INCH PERFORATED PIPE UNDERDRAIN, COMPLETE	LF	3,108	\$25.00	\$77,700.00	\$21.70	\$67,443.60	\$25.00	\$77,700.00	\$20.00	\$62,160.00
43	D-705-5.1	6-INCH NON-PREFORATED SDR 35 OUTLET PIPE UNDERDRAIN, COMPLETE	LF	45	\$25.00	\$1,125.00	\$34.47	\$1,551.15	\$30.00	\$1,350.00	\$20.00	\$1,080.00
43	D-705-5.1 D-705-5.1	6-INCH NON-PREFORATED SDR 55 00 TET PIPE UNDERDRAIN, COMPLETE 6-INCH NON-PREFORATED OUTLET PIPE UNDERDRAIN, COMPLETE	LF	378	\$25.00	\$1,125.00	\$34.47 \$23.25	\$1,551.15 \$8,788.50	\$30.00	\$1,350.00	\$24.00	\$1,080.00
44	D-705-5.1 D-705-5.2	CLEANOUTS FOR 6" UNDERDRAIN PIPE	EA	17	\$20.00	\$7,560.00 \$29,750.00	\$23.25 \$1.391.51	\$6,788.50 \$23,655,67	\$44.00	\$16,632.00	\$24.00	\$9,072.00
45 46			EA	17								
-	D-751-5.1	STANDARD 60" DIAMETER PRECAST MANHOLE W/ CAST IRON FRAME AND GRATE		3	\$11,580.00	\$34,740.00	\$6,638.85	\$19,916.55	\$12,000.00	\$36,000.00	\$17,000.00	\$51,000.00
47	D-751-5.2	PRECAST YARD INLET, W/STRUCTURAL STEEL FRAME AND GRATE	EA	1	\$2,100.00	\$2,100.00	\$1,476.35	\$1,476.35	\$3,500.00	\$3,500.00	\$12,000.00	\$12,000.00
48	D-751-5.2	STANDARD TYPE E INLET, W/STRUCTURAL STEEL FRAME AND GRATE	EA	4	+	\$32,000.00	\$6,257.60	\$25,030.40	\$12,570.00	\$50,280.00	\$16,000.00	\$64,000.00
49	D-751-5.2	OUTLET CONTROL STRUCTURE, W/ TRASH RACK, SKIMMER, COMPLETE	EA	1	\$12,500.00	\$12,500.00	\$8,734.84	\$8,734.84	\$8,100.00	\$8,100.00	\$20,000.00	\$20,000.00
50	D-752-5.1	STANDARD CONCRETE END SECTION, 15 INCH	EA	1	\$2,000.00	\$2,000.00	\$1,507.25	\$1,507.25	\$1,100.00	\$1,100.00	\$2,300.00	\$2,300.00
51	D-752-5.1	STANDARD CONCRETE END SECTION, 36 INCH	EA	2	\$3,000.00	\$6,000.00	\$3,111.60	\$6,223.20	\$3,000.00	\$6,000.00	\$5,000.00	\$10,000.00
52	D-752-5.2	UNDERDRAIN OUTLET ENDWALLS, 6 INCH	EA	3	\$1,000.00	\$3,000.00	\$756.35	\$2,269.05	\$1,500.00	\$4,500.00	\$1,200.00	\$3,600.00
53	T-901-5.1	SHA TURFGRASS SEED MIX AND SOIL SUPPLEMENTS	AC	36	\$1,700.00	\$60,860.00	\$1,865.39	\$66,780.96	\$1,750.00	\$62,650.00	\$2,900.00	\$103,820.00
54	T-905-5.1	TOPSOILING, OBTAINED ON SITE	CY	7,513	\$4.40	\$33,057.20	\$5.70	\$42,824.10	\$15.00	\$112,695.00	\$10.00	\$75,130.00
55	T-908-5.1	WOOD CELLULOSE FIBER MULCHING	AC	36	\$1,250.00	\$44,750.00	\$1,399.04	\$50,085.63	\$1,650.00	\$59,070.00	\$210.00	\$7,518.00
56	L-107-5.1	L-807 (L), STYLE I-A, SIZE 2, PRIMARY WIND CONE AND FOUNDATION, IN PLACE	EA	1	\$12,000,00	\$12,000.00	\$8.646.65	\$8,646,65	\$11.000.00	\$11.000.00	\$8,350.00	\$8,350.00
57	L-107-5.2	SEGMENTED CIRCLE MARKER SYSTEM, IN PLACE	EA	1	\$26,685.00	\$26.685.00	\$25.853.73	\$25.853.73	\$45,000.00	\$45,000.00	\$8,350.00	\$8,350.00
58	L-108-5.1	CONDUIT TRENCH	LF	2.170	\$20,003.00	\$45,570.00	\$12.62	\$27,385.40	\$11.00	\$23,870.00	\$0,530.00	\$32,550.00
59	L-108-5.2	1/C, NO 8 AWG, 5KV, TYPE "C" CABLE, INSTALLED IN TRENCH, DUCTBANK, OR CONDUIT	LF	2,110	\$21.00	\$4.471.50	\$1.75	\$4,742.50	\$2.00	\$5,420.00	\$13.00	\$5,420.00
53	L-100-J.Z	10, 10 0 ANO, SIX, THE C CABLE, INSTALLED IN TRENCH, DUCTBANK, OR CONDULT	LLL	2,110	C0.1¢	ə4,471.0U	\$1./S	ə4,/42.0U	\$2.00	ລຸວ,420.00	ş2.00	⊅ວ,4∠0.00



#### GARRETT COUNTY AIRPORT (2G4) CONSTRUCT WEST APRON

BID OPENING DATE: 4/09/20 TIME: 2:00 PM

					Mountaineer I	nfrastructure Charles J. Merlo, Inc.		First Fruits Excavating, Inc		Eastern Branch Demolition		
ITEM NO.	SPEC NO.	DESCRIPTION	UNIT	QUANTITY	UNIT COST	SUBTOTAL	UNIT COST	SUBTOTAL	UNIT COST	SUBTOTAL	UNIT COST	SUBTOTAL
60	L-108-5.2	NO. 8 AWG, 600V TYPE "C" CABLE, INSTALLED IN TRENCH, DUCTBANK, OR CONDUIT	LF	1,690	\$1.80	\$3,042.00	\$1.92	\$3,244.80	\$2.00	\$3,380.00	\$2.00	\$3,380.00
61	L-108-5.3	NO. 6 BARE COUNTERPOISE WIRE, CU LIGHTNING PROTECTION	LF	1,310	\$1.30	\$1,703.00	\$1.40	\$1,834.00	\$2.00	\$2,620.00	\$2.00	\$2,620.00
62	L-110-5.1	2-INCH, SCHEDULE 40 PVC ELECTRICAL CONDUIT	LF	3,170	\$3.00	\$9,510.00	\$3.15	\$9,985.50	\$3.00	\$9,510.00	\$4.00	\$12,680.00
63	L-110-5.2	2-WAY, 2-INCH SCHEDULE 40 PVC CONCRETE ENCASED ELECTRICAL DUCT BANK	LF	60	\$100.00	\$6,000.00	\$37.52	\$2,251.20	\$70.00	\$4,200.00	\$75.00	\$4,500.00
64	L-115-5.2	16-INCH, L-867 ELECTRICAL JUNCTION STRUCTURE	EA	3	\$2,750.00	\$8,250.00	\$2,217.64	\$6,652.92	\$2,500.00	\$7,500.00	\$2,600.00	\$7,800.00
65	L-120-6.1	2-WAY, 2-INCH SCHEDULE 40 HDPE ELECTRICAL DIRECTIONAL BORE CONDUIT	LF	220	\$115.00	\$25,300.00	\$73.18	\$16,099.60	\$80.00	\$17,600.00	\$70.00	\$15,400.00
66	L-125-5.1	L-861T, CLASS 2, MODE 1, BASE MOUNTED MITL	EA	15	\$2,950.00	\$44,250.00	\$2,883.27	\$43,249.05	\$3,000.00	\$45,000.00	\$2,600.00	\$39,000.00
67	L-125-5.2	L-853, 24-INCH, TYPE II, RETROREFLECTIVE TAXIWAY EDGE MARKER	EA	9	\$250.00	\$2,250.00	\$221.51	\$1,993.59	\$200.00	\$1,800.00	\$300.00	\$2,700.00
68	520113	6-INCH GRADED AGGREGATE BASE COURSE	SY	11,280	\$8.83	\$99,602.40	\$10.46	\$117,988.80	\$10.00	\$112,800.00	\$13.00	\$146,640.00
69	504536	SUPERPAVE ASPHALT MIX 12.5MM FOR SURFACE, PG 64S-22, LEVEL 4	TN	1,100	\$112.50	\$123,750.00	\$119.21	\$131,131.00	\$105.00	\$115,500.00	\$130.00	\$143,000.00
70	504560	SUPERPAVE ASPHALT MIX 19.0MM FOR BASE, PG 64S-22, LEVEL 2	TN	1,790	\$102.50	\$183,475.00	\$108.66	\$194,501.40	\$95.00	\$170,050.00	\$120.00	\$214,800.00
								\$5,559,000.00		\$5,907,987.00		\$6,049,196.00

\* Red Text indicates that the itemized amount does not match the proposal. Unit Price Written amounts govern.



# **BID TABULATION SUMMARY**

## GARRETT COUNTY AIRPORT (2G4) CONSTRUCT WEST APRON

### BID OPENING DATE: 4/09/20 TIME: 2:00 PM

CONTRACTOR	BASE BID (CONSTRUCT WEST APRON )	TOTAL
Engineers Opinion of Probable Cost	\$5,964,962.00	\$5,964,962.00
Beitzel Corporation	\$4,352,978.65	\$4,352,978.65
Excavating Associates, Inc	\$4,466,684.00	\$4,466,684.00
Carl Belt, Inc.	\$4,633,043.90	\$4,633,043.90
Bear Contracting, LLC	\$4,698,932.80	\$4,698,932.80
All Construction, Inc	\$5,110,507.00	\$5,110,507.00
Green River Group, LLC	\$5,184,826.00	\$5,184,826.00
Mountaineer Infrastructure	\$5,189,973.10	\$5,189,973.10
Charles J. Merlo, Inc.	\$5,559,000.00	\$5,559,000.00
First Fruits Excavating, Inc	\$5,907,987.00	\$5,907,987.00
Eastern Branch Demolition	\$6,049,196.00	\$6,049,196.00

\* Red Text indicates that the itemized amount did not match the proposal; therfore, as adjusted and the correct total is indicated above. Unit Price Written amounts govern.